BapianT 1 Bapiant 2 Bapiant 5
1. Cxoportitb npib: 1. CkoporiTb 1pi0: 1. Ckoportitb npib:
14p° x? —16 x*=2y+1 16b 4x—12 442 1453 X2 —16 X =2y+1
a) ; 0) ; B) ; a) 730) — ;B) — g ) ; 0) ; B) 3
49pH 4x —16 1—x 20b x°—9 y- —4y+4 49p 4x—16 1—x
; x’ =8 5
13406 3_9,2 _ 136
r) — X =2x"+x-2 r) —
r-11 v-1]
2. 3BeniTh apiod: 2. 3BeniTh Apiod: 2. 3BeniTh apiod:
b m b
a 0 3HaMEeHHHKA 4x)°; a 0 3HaMEeHHHUKa 9mn*; a 0 3HAaMEHHHUKA 4x)°;
) 2,7 pit Y ) EPE pit ) 2,2 pit Y
0) > 110 3HAMEHHHKA m” — n* 0) _—— 110 3HAMEHHHKA X — * 0) > 10 3HAMEHHMKA m” — n*
m-—n ) x+y : R .
3. Crpocrith BHupa3s: 3. CrpocTiTh BHpa3: 3. CrpocTiTh BHpas:
196° 12b° 23p°  5b° 11 14 196° 12b°
a) D0 1205, a) 2200 ) - w2120
49h  49b 42b  42b° 7 5x—15 5x—15 49p  49b
14 10 2 14 10
; gty 1 + ;
4x—16 4x—16 I 4x—16 4x—16
-2 1 *-2 1
B) Y 2)’ 4 _. B) Yy 2)’ 1 _.
l—y* 1=y -y -y
Bapiant 3 Bapianr 4 BapianT 7
1. CkoporiTs n1pi0: 1. CkoporTith 1pib: 1. Cxoportitb 1pib:
24p* x> =25 Y =2y+1 16H 4x —12 4—y7? 24p* x2—25 ¥y =2y+1
a) ; 0) }B) T3 a) 7:0) —— ;B) 3 ;| @) ; 0) }B) T
36b 6x—30 -y 20b x° =9 y . —4y+4 36b 6x—30 -y
. 3 W)
; x -8 =N +h-6
i gl r r) ————.
r) e Hr-§ ) x=2x"+x-2 -l
r-0
2. 3BeniTh Apiod: 2. 3BeniTh apiod: 2. 3BeniTh apiod:
x m x
a 0 3HaMEHHHKa 6x)°; a 0 3HaMeHHHUKa 12mn’; a 0 3HaMEeHHHKa 6x)°;
) 5,7 A y ) 3,7 A ) 5,7 A y
8
0) 110 3HAMEHHUKA m* — n’. 0) 110 3HAMEHHHKA X~ — )°. 0) 110 3HAMEHHHUKA m° — n°.
m—n x+y m—n
3. CpocTiTh BUpa3: 3. CpocTiTh BUpa3: 3. CrapocTiTh BUpa3:
196> 12b° 25p°  7b° 13 12 196> 12b° 11 13
a) - ; 0) a) ——=,:0) + ) ———30) + ;
49p  49b 42b  42b 5x—-15 5x-15 49p  49b 4x—16 4x—16
11 13 242 1 24 4
; B) 4 zy + 5. B) Y 2y + 5.
4x—-16 4x-16 1—y 1—y 2—y 2—y
24 4
B) 3o
2=y" 2=y

BapianT 6
1. CkoportiTb apib:

16b 4x—12 457
a) 20b4 76) x2_9 7B) y2_4y+4a
x’ -8

X =2x"+x=2

2. 3BeniTh Apiod:

110 3HAMEHHUKa 9mn*;

m
a) EPE
0) - 110 3HAMEHHHKA X° — 7.
3. CopocrTits Bupas:
3 3
NEEVARNE Vs | N O
42b 5x—15 5x-15

42ph
242 1

y 2y+ .
I-y I-y

B)

BapianT 8
1. CkoporTiTb 1pib:
16b 4x—12
. 6 .
) 0p7 00 g P
x’ -8

X =2x"+x=2

4—y2 )
y:—4y+4’

r)

2. 3BeniTh apiod:
a)

6)

3. CpocTiTh BUpa3:
2 3 3
2) 56" 7b . 6)
42b  42b
2
Yy +2y N 1
1-y? 1-y

5
3, JI0 3HAMEHHHKa 12mn’;
n

110 3HAMEHHHKA X~ — )°.

xX+y

13 12
+ .
5x—15 5x-—15"

2 .

B)








